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Part I / &L 1
Mathematics / 281

1. If f(x)+2 f(1—x)=2>+1, ¥ x € R, then
the range of fis :

o [4e
o [41
o [

2. LetA={zeC:|z|=25} and
B={z € C: |z+5+12i|=4}. Then the

minimum value of |z—o|, for z € A and

weDB, is:
(1) 6
2 7
3 8
4 9

3.  If the product of the roots of the equation,
x2—5kx +2e2198elkl —1 =0 is 49, then the

1.

o f () +2 f(1-x)

[Qrar

(4)

=x24+1, ¥ xeR,
.

Rl S A={z e C: |z =25} 21
B={ze C:|z+5+12i|=4}. cdl z € A 21

®eB UL, [z—w| -l v Bud

1
2

(1)
(2)
)
(4)

4

O 0 N O

Y N

dl £l

~

O.

od ulsrQl 22— 5kx +2e2108elkl - 1=0 i
ofloyel oeLsiz 49 €, dl 24 A5l oflsv

sum of the squares of the roots of the UL uReL Y.
equation is :
(1) 525 (1) 525
(2) 527 (2) 527
(3) 576 (3) 576
4) 627 4) 627
R/Page 2 SPACE FOR ROUGH WORK / 2% sPid, 24



2 52 152
If A=1|4 106 358|, then the
6 162 620

determinant of the matrix adj(2A) is equal

to:

1) 64
2) 256
(3) 2048
(4) 4096

Let S be the set of all real values of \ for

which the system of linear equations

Ax+y+z=>5\

2A+2y—z=1

3y+z=9

has infinitely many solutions. Then, S :

(1) equals R.

(2) is a singleton.

(3) contains exactly two elements.

(4) is an empty set.

2 52 152

ol A={4 106 358, dl 2B adj(2A)
6 162 620

(Azi1us .

(1) 64

2) 256

(3) 2048

(4) 4096

o wadlszel eld

Ax+y+z=5\
2\ +2y—z=1
3y+z=9

A 2d GxAl @ d Hedl A Al L ardls
BudiAl oL, 4R $SS. AL S:

(1) CRIRRO.
(2) 58l 2L .
(B)  ORIOR A o U2l BRI O,

4)  vudl 2w,

SPACE FOR ROUGH WORK / 2% s, 2



In order to get through in an examination
of nine papers, a candidate has to pass in
more papers than the number of papers
in which he fails. The number of ways in
which he can fail, in this examination, is :

(1) 128
(2) 255
(3) 256
4) 9% (8)!

Let T, denote the rth term in the binomial

expansion of (a+1)%. If

125
Tos+ T =55 Tae

then the sum of all the values of a is :

1
S
3
2 3
G 2
5
@ 5

Aot YRl 245wzl Wi s2e w2 GHEAR svedl
YU MR AL el SRl QAR WURME Wt
ud W dl Gagar 20 wlai sedl Hd A
uf o 7

(1) 128
(2) 255

(3) 256

4) 9% (8)!

Rl s T, 2 (a+1)%0 A (guel [Qrazeld 13 ue
£l ©. ol

125
Tos+To7= 55 Tae

.G/

1 a Al dsm Budidl dzenol

1
O
3
@ 3
G) 2
5
4 3

R/Page 4
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In an ordered set of four numbers, the first
3 are in A.P. and the last 3 are in G.P.,
whose common ratio is 7/4. If the product
of the first and fourth of these numbers is
49, then the product of the second and
third of these is :

(1) 60

@) 112

3) 128

(4) 144

If e (sin2x+sin4x+sin6x+. ..+ad inf.)loge2

(0 <x< g) satisfies the equation,

y?—5y+4=0, then oor—siny 1S equal
to:

1) -@2+2)

2 -K2+1)

G V2-1

4) 2+2

AR AvARAAL 2L 535l AR, UM 3 vl
iz el (AP) U 8 2 Sedl 3 AvaRil
el el (G.P.) i 8, el Ml Rl
7/4 9. od 2 AvaiUiHlL wad 24 28l
vl 2eUsR 49 €1, dl ¢y 21 Hly

vl dJeUsR .
1) 60

2 112

(3) 128

4) 144

M e (sin2x+sin4x+sin6x+. . A2dd yel)loge 2

(0<x<%) 3 ulsagl y2—5y+4=0 o

sinx
HYEA R, Al ————— =
COSX —S1nx

1) -@2++2)
2 -N2+1)
G) V2-1
4) 2+2

SPACE FOR ROUGH WORK / 2% s, 2



1 N 1 .
10. Let f(x)= x{;} for all x (% 0) € R, where [ 10. 4Rl $ f (v)= x[;} aH x (#0) e R, ol
for each t e R, [t] denotes the greatest UAS te R UL, [t] 2 t &l Al 24541 t A AHIA
integer less than or equal to t. Then : s yellsial el el yelds gld 8. dl
lim = lim =
@ Jim =0 @ Jm =0
@ o= @ o=
©) x—%—f(x) (©) x—%—f(l)
@ Jm =1 @ Jim =1
72* —9* —8* +1 72 —9* —8* +1
. x) = ,x#0 Coe flx) = ,x#0
1L If f0) V2 - \/1+cosx 1. o f() V2 - \/1+cosx
k2 log.210g.3,x =0 k2 log.210g.3,x =0
is a continuous function in the interval o 2dld [0, 2m) WoAdd [Q8u ¢, dl
[0, 27), then k is equal to : = UICH
1) 4 1) 4
@) 18 @) 18
(3) 24 (3) 24
4) 36 4) 36
12. Ify=y(x) is an implicit function of x given | 12. od y=y(x) 2 x 4 2g [(A4% ¢ld 24
by ycosx +xcosy=m ; then y”(0) is equal ycosx +xcosy = glRL clvAld €1y, dl
to: Yy’ (0) =
1 o 1) o
2 - 2 -
G 0 B o0
4) 2w 4) 2w
R/Page 6 SPACE FOR ROUGH WORK / 2% $Pid, 24



13. Foreach x e R, let f (x) =|x—1|, g(x) = cosx
and ¢(x) =f (g(2 sinv)) —g(f (x))- Then, ¢

(1) differentiable at each point of R.
(2) not differentiable at 0.
(3) not differentiable at 1.

(4) differentiable only in (—g, %)

14. If f(x)=|x>—16] for all x € R, then the total
number of points of R at which f: R—»R

attains local extreme values, is :
®m 1

2 2
®) 3
4) 4

15. Let

o A [N
e ype2ry e H 20y

then, J —1 equals :

4x 2x

LT Gl il BPS
(1) 3 8 e e 41
llo eX te¥+1 L C
(2) 7 0% e ¥ 41
2x x
1 e —e" +1
—lo +C
B 2 Be XX 4o 41
4x 2x
1 e +e™ +1
(@) 1% | m_z, | 7€

(where C is a constant of integration)

13. Ucds x e R U2, 4RL 5 f (x)=|x—1],

g(X) = cosx i ¢(x) =1 ((2 sinx)) — g(f (x))-
da, ¢ A

(1) R ucds (g 2000 [Bsadl 8.

2) 02w Esadld -l

@) 12w Bsadld 2l

4) s (—g gj Ui [Qsarly .

14. ol o xe RUR, oA f(x)=]x2—16] €4, dl
R L& (g2l 2100 f: R—-R 22l 2icilds

Yyl br1el, de [Ggaiel ga 2va ®.
1 1
(

—
= W N
— — ~—
= W

15. 4Rl
X —X
I= | ez dx, J= |—; = —; —dx
e e Y41 e e 41
ai, J—-1I=
4x 2x
1 e e +1
— lo +C
(1) 7 o8 e e 41
110 eX e +1 P
2 7 08 e ¥ 41
2x X
1 e~ —e"+1
—lo +C
G 2 Be X e¥ 41
4x 2x
1 e +e™ +1
@) 18 | m_ . TC

(ol C 2 sl 21umis 8.)

R/Page 7
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16. If x° Lt 5 dx =mm+n, then the x° Lt > dx =mm+n, dl
1-x2 1-x2
ordered pair (m, n) is equal to : Y5l od$ (m, n)
LY 11
D (33 M 133
1,2) 12
@ (573 @ |33
( 11 ) 11
® (173 ®) 1273
(L 1
(4) 8" 3 4 8 3
17. The area (in sq. units) of the region | 17. o5 12y=36—12 dal N ESPR SR Y @'@wﬂ:{[
bounded by the curve, 12y=36—x> and 88 O, d [Clg2ll 20l ddi 2uRlsl gkl 2ugxt
the tangents drawn to it at the points, Uel &z (AL 2UsHHl) .
where the curve intersects the x-axis, is :
1) 12 1 12
2) 18 2) 18
G) 27 (G) 27
4) 6 4) 6
18. Let y=y(x) be the solution of the [ 18. arl3 y=y(x) 2 [Bsa szl
differential equation :
d
x logex d_z +y =3xlogex, (x > 1), x logex % + vy =3xlog.x, (x >1) -l
Ghd ®
If y(e) =0, then y(e?) is equal to : S y(e) =0, dl y(e) =
(1) e (1) e
— 2
3 2 3
= 2
G 3¢ @ e
(4)  3e? (4) 3e2
R/Page 8 SPACE FOR ROUGH WORK / 2% sPid, 24



19. Let the straight lines, 5x —3y+15=0 and | 19. =l 5x—3y+15=0 214 5x+3y—15=0
5x+3y—15=0 form a triangle with the -2 W8 2is [AsleL o O, dl i Bsion
x-axis. Then the radius of the circle ylrard C{iUl-ﬂ Bl .
circumscribing this triangle is :

1 8 1 8
1) 3 M3
y 7 y 7
® = ® =
5 12 5 12
G 5 ®) %
, 16 , 16
@ @

20. The mirror image of the circle [ 20. 3l x+y+5=0 Al daq
x2+y2-10x—10y=0 in the line x2+y2-10x—10y=0 « e e-nulalce
x+y+5=0is a circle passing through the (mirror image) 2 (¢ Higll uuR
point : ud ada ©.

1) (=3 =7 1 (=3 =7
2 (=9, -7 2 (=9 -7
(@) (=3, -11) (@) (=3, -11)
(@) (-9, -11) @) (-9 -11)

21. Let S be the focus of the parabola, [ 21. @Rl § S %l Wadd x2+8y=0 4 AlML © 244
x2+8y=0 and Q be any point on it. If P Q i a-ll %{L} s [8'{@ 9. ot P 2 2uvis SQ -:L)
divides the line segment SQ in the ratio 1:2 ol [Qetsy s3 dl, P Al [eigua
1: 2, then the locus of P is : 8.

(1)  9x%+24y+32=0 (1) 9x%+24y+32=0

(2) 9y2+24x+32=0 Q) 9y2+24x+32=0

(3) 32x2+27y+36=0 (3) 32x2+27y+36=0

(4) 32y°+27x+36=0 (4) 32y%+27x+36=0
R/Page 9 SPACE FOR ROUGH WORK / 2§ $Uis 2



22.

23.

Let 0 ¢ (0, %) If the eccentricity of the

hyperbola x%cos?0 —y?>=6c0s?0 is /3
times the eccentricity of the ellipse

x% +y? cos?0 =30cos? then 0 is equal to :

1 E
O
2 E
@ 5
©) cos_l(ij
J3
4 E
@ 3
) x—1=y+3=z+5 o
If the line lies in the

4 -2 1
plane 2x + Iy + mz=16, then 124+ m? is

equal to :
1) 16
2) 20
3) 98
4) 85

22.

23.

s 0e (0, gj st 2daan

x2cos20 — y2 =6c0s20 il G ~gall Guaaxy
2+ y2 0520 =30c0520 l Gcyrgdl $3dl J3
aell i, dl 9=

n
® 2
v
@ 7
@) cos ! (LJ
J3
m
4 3
~ A x—1  y+3 z+5
ol vl = = AHA4

4 -2
2x +1Iy+mz=16 Hi 213l &, dl 2+m? =

1) 16
@) 20
3) 98
(4) 85

R/Page 10
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24.

25.

The equation of the plane passing through

the line of intersection of the planes

— [A A
T(27-3%+4k)=1 and 7-(3=}) + a=0
and perpendicular to the plane

-

2(2029=) +a=0,is:

AN AN A A A
If a, b, ¢ be three unit vectors, b and c

are non-parallel, such that
AN A
A (/\ /\) _ b+ ¢

ax\bxc , then the angle

A VAN .
between a and b is:

o -
2
2 =
G 5
3
4 -

24.

25.

~ — A A A ~
Al r-(2i—3j+4k)=1 24
- (A A NN . .
r -(i—j) +4=0 -l Seviell wAR ug 241

> A A A ~ . N
AU r'(Zi—j—k) 1 4=07 4o $™ A

Audar uHlsel o.
- [A A AN
M) r|i-2j+4k) =3

AN N N

A A A
ol a, b, c AL Asy uEW ™, b 2 ¢

A A

AR 4, qmgx(ﬁxé)zb*C,ch

2
A '\/\ NN \ N\
a 2 b Al vl )
1 m
M =
5 2
@ =
3y =
6 =
y 2T
w =

R/Page 11
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26. Aboxcontains 6 red ballsand 2 black balls. | 26. 25 U2l 6 @A 5l i 2 S0 €81 ©. dnisll
Two balls are drawn, at random, from it AERS d A g8l yraell Rioud wie sreumi
without replacement. If X denotes the 21 O, o X 2 wE udd @ gl v
number of red balls drawn, then E(X) is gld, dl E(X) =
equal to :

y ) S
o 3 o 3
) 3 ) =
2 3 @ 3
3 2 3 2
G 3 G 3
o Z o Z

27. A six faced die is so biased that it is thrice | 27. & Yvsclloll 215 YAl izl 2A[GirAd (biased) © &
likely to show an even number than an oAl Gl 29 AR S| HvAl sl sl
odd number, when thrown. If the die is Ay g0 Al 2usadl Aol 2 ll 9. e 24 WA
thrown twice, the probability that sum of o uic GeLnel 2Ud dl Wl wrel vl
the numbers on the die is even, is : AL ASL A Al Heusl .
y )

o o
) 2 ) 2
2 3 @ 3
3 L 3 2
G 3 G 3
4 3 4 2
@ 3 @ 3
R/Page 12 SPACE FOR ROUGH WORK / 2% siid 24



28. The total number of x € [0, 2w] which | 28.  4l$3914(cos!0x + sinZx) =4 + sin®x sin?(2x)
satisfy the equation o UUAIA 3 dell x € [0, 2m] -l g v
4(cos!Ox + sin?x) =4 + sin®x sin?(2x), is : 6.

1 2 1 2
2 3 2 3
(3 5 3 5
4) 6 4) 6

29. tan (% sin” ! % + % cos ! %) is equal | 29. tan (% sin” ! % + % cos ™! %) = .

to :
) 2 ) 2
n - o 2
) 2 ) 2
@ 3 @ 3
3 el 3 4
®) T ® 15
y y =
@ 5 @ 5

30. The Boolean expression 30. Oiz\(-t'liivi (349l (Boolean expression)

(PpAq) Vv ((~q) vV p)is equivalent to : PArqV(~qvp) ™ SEIKER]
8.

1) ~pvq 1) ~pvaq

(2 ~qvp (2 ~qvp

3 pva B prva

4 Cpva 4 Cpvia

R/Page 13 SPACE FOR ROUGH WORK / 2§ $Uis 2



Part IT / oo I1
Aptitude Test / »&3RL w3z

Directions : (For Q. No. 31 to 34). For the elevation given in the problem figure identify the correct
3-D figure from amongst the answer figures.

(g% - (1. 31 4134 %2). o Geid g3t (Elevation) X2 2ugldy & adl =l Akl
A5l sveust 2uglalHig] sl s2l

Problem Figure / Answer Figures | syel iglail
X8 gl
s &9 g
) 3)
- el J & & @
©)
- £ & @ &
©) 3)
« [ £ @ @ @
)

R/Page 14 SPACE FOR ROUGH WORK / 2% sbid, 24



Directions : (For Q. No. 35 to 37). The 3-D figure shows the view of an object. Identify the correct

top view from amongst the answer figures.

[ga : (4. 35 4137 we2). Aubuel] 2ugld ©is ueid o4 dad 8. st gl
Uy Gzl €2 ~135] 53,
Problem Figure / Answer Figures | sydlel 2iglail
xE gld

&
@ &

Directions : (For Q. No. 38 to 41). Find the odd figure out of the problem figures given below.
(g% - (4. 38 4 41 %e). ug ugladziuie] [@Ayy (deEzlsa, @R, odd) 2ugla el

w | T

S (2 () (4)

R/Page 15 SPACE FOR ROUGH WORK / 2§ sUis 2



o |

@) (2) ) (4)
41.
1) (2) (3) (4)
Directions : (For Q. No. 42 to 47). Which one of the answer figures will complete the sequence of
the three problem figures ?
[ea - (4 42 4147 w2). Al sreuer 2uglaziuis] s& wusld 490 ug 2uglazi-d 4¢d-

Yol se9l 7

Problem Figures /| 33 “usldil Answer Figures | sydlod 2Uslail

BEE R

R/Page 16 SPACE FOR ROUGH WORK / 2% sPid, 24




Problem Figures / 33 isldil Answer Figures | sydled uiglal

s G B OOy

1) ) ©) )

VI 0= I AR S RS e

(1) 2 3) 4)
:@ 2 @@@@
(1) 2 3) 4)

.EH®H BB

1) ) ®) “)

EE IR OB R

R/Page 17 SPACE FOR ROUGH WORK / 2§ sbis 2l



Directions : (For Q. No. 48 to 53). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

[ga (4. 48 4153 2). BBl 38 uugla- vid] vl 2ud dl svdied Aglai4i-]
s¢ 2u5ld iy 94 sl 7

Problem Figure / Answer Figures | sydlet gl
& gl

i

—~
p—
~
—~
N
~

3) (4

~—

—~
[y
N
—_~
N
N
—_
= ]
~
—~
=~
N

o] THEHUHHURHL L

1) 2 )
R/Page 18 SPACE FOR ROUGH WORK / 2% $lid, 2
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Problem Figure / Answer
8 2gld

—

igures | erdldd Algldil

o (5 i e o e e s

—~~
—_
N—
N
N~
—~~
W
Nt
—~~
=~
N

(

T 1

—~~
[y
N
—~
N
N2
—_~
8]
~
—~~
=
g

g o o o

o @ ©) @
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Directions : (For Q. No. 54 to 57). The problem figure shows the top view of objects. Looking in

the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

[dea : (3. 54 4157 2).

X8 2Agld ygide GuF] eed caud O, cugl (dlz) -l Bl oddi,

syl 2iglaxlHid Y Geia g3t (Elevation) iss] 5%l

Problem Figure / Answer Figures | ardiel gl
u8 2iglad
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! M @
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Directions : (For Q. No. 58 to 61). Which one of the answer figures is the correct mirror image of

the problem figure with respect to X - X ?

[ga - (4. 58 461 #2). syellel AglAHHI] 58 2115 38 23l X - X A A 0 €401
(>12la4l) ulaleior & 7

Problem Figure / Answer Figures / ardiel gl
8 sld
" E; N
58. % ? ?
X ) @ @) @
X
59. — — —]
X
1) ) ®) @)
X
« §% TR T o
X (1) @ ©) @
X
61.
X 1) @ ®) @)
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Directions : (For Q. No. 62 to 65). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

[ge - (1. 62 4165 #12). 8 gl g 647l eed caud O. eut (dlk) Al Bousi odal
yaq Geia €2l (Elevation) syt 2uglaziwie] -issl 53l

Problem Figure / Answer Figures / sydlel gl
X sld

%

i O R S i LU
1) (2) ) 4

—

63. |

=7 [th [tk [Pth A4
(1) k) 3) )

[k

@) () 4)

w | O
o | m 1
(1)

° 0
N = N 4 il A=
1) ) (3) 4)
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66. Which out of the following is the country | 66. «lla-uniell 4l £ ”g[:lburt't vd” (Roof of the
called the “Roof of the World” ? World) ol5 2l © 7
(1) Japan (1) oM
(2) Tibet ) [z
(3) Mongolia (3)  Hiotdlu
(4) Uzbekistan 4) Goellsrdir (Uzbekistan)
67. Which one of the following has a better | 67. «lla-isl sl G>ulad Yeu (insulation
insulation value ? value) 48R & 7
(1) A concrete wall 1) sislerdl ko
(2) A brick wall ) 8ol
(3) A cavity wall (3)  otvlid Yoot end (Mell o)
(cavity wall)
(4) A stone wall (4)  weawdl kena
68. Which one of the following is a renewable | 68.  -llai-iiuisll s34l Glodrtl At Ye: U1 (renewable)
source of energy ? 87
(1) Coal (1)  slaxl
(2) Natural Gas (2) slds «y (Natural Gas)
(3) Ocean waves (3)  AUPR ¥sd (Ocean waves)
(4) Oil (4) qq (Oil)
69. Charles Correa was which of the | 69. el sifza AlRiAmigl stel ¢dl ?
following ?
(1) A British Architect 1) (Gl il (sdsi)
(2) An Indian Architect 2)  eRedl A (UrdsR)
(3) An American Architect (3)  2uzls 2auld (ARgsR)
(4) A Brazilian Architect @) cubdlan eld (Argsk)
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70. Who amongst the following is not a | 70. dlai-iisll 519l dis (A2 : qualified) &uld
qualified architect ? (Argsi) Al ?
(1) Remo Fernandes (1) ¥ 24 (Remo Fernandes)
(2) Arundhati Roy (2) %tgﬁlcﬂ 4 (Arundhati Roy)
(3) Satish Guijral (3) M vvid (Satish Gujral)
(4) B.V. Doshi (4) elldl €&l (B.V. Doshi)
71. Ellora group of temples represent which | 71. Saizt u¥grti HEL AlRA-waisll 20 WAl
of the following ? RO
(1) Hindu Religion 1) [Reg i
(2) Buddhist Religion (2)  CAlesL s
(3) Jain Religion (3) et ¥
(4)  All of the above (4)  Guwrdi wa
72. Parthenon is located in which country ? | 72. W&irrl s34l gl 2094 8 7
(I) Romania (1) =zl
(2) Russia 2) =R
(3) Greece @) Al
(4) Japan (4) et
73.  Which of the following is equivalent to the | 73.  zaucd Wie dl2iel 534, Aldd wldlfs
Nobel Prize in architecture ? UUSH O 7
(1) Academy Award (1) sl Y25k (Academy Award)
(2) Padma Shree (2) st %l (Padma Shree)
(38)  Pritzker Prize (3) (s YsR (Pritzker Prize)
(4) Star of Architecture (4) AL dRAL (Star of Architecture)
R/Page 24 SPACE FOR ROUGH WORK / 2% $bid, 24



~

74. An escalator looks like which one of the | 74. 2i¥%dzz {lR-migl -l 6\}% qpeL e 7
following ?

(1) Ladder (1) el (Ladder)
(2) Staircase 2) 2l (Staircase)
(3) Ramp (B) ™

(4)  Lift @) [asge

75. Who amongst the following is an [ 75. «(l2-umisl stol 2auld (Argsik) © 7
architect ?

(1) Vikram Seth 1) [Esa s
(2) Lauri Baker (2) dil o
(3) Khushwant Singh (3)  vdd Ria
(4) Ruskin Bond (4) Rl ollws

76. Burj Khalifa is located in which one of the | 76. ¢js/ vdlsl s41 BHl 2094 © ]
following countries ?

(1) Saudi Arabia (1) AGel 2R[ (Saudi Arabia)
(2) Dubai (2) 5o

(3) Turkey @) asl

(4) Afghanistan (4) 2R (Afghanistan)

77.  Which of the following is the most striking | 77.  «{l2-uisl 53 2ia Risedl 20031 €18 (Sydney

feature of the Sydney Opera House ? Opera House) | “écat-] uiRj © 7
(1) Entrance Hall (1) w92l vi$ (Entrance Hall)

(2) Interior Design (2)  licls 2L (Interior Design)
(3)  Sail shaped roof (3) U4 (Sail) 2usi+ &

(4) Location (4) A
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78. Which one of the following is an odd | 78. llR-uxiall 5§ os (A3t ([ARA-0dd) © 7

combination ?

(1) Forts and Jaipur (1) e 24 YR

(2) Lakes and Udaipur (2)  dousll (ARIRL) 24 GEayR
(3) Temples and Madurai (3) kRl 2 wgud

(4) Rain and Kutch (4) ol 2 520

79. Tsunami is a result of which of the | 79. Al (Tsunami) 2 «lla-wwigll 2w wkeunt

following ? o1

(1) Sea storms (1) :ﬁﬂﬁl dlsi (Sea storms)

(2) Earthquakes in coastal areas (2)  ULR (Rl o5y

(3) Earthquakes in the sea bed (3)  UR-dd (dlh) (sea bed) Al o5
(4) Strong ocean waves (4)  ohRER %ﬂi;:l Hed (waves)

80. Chandigarh was planned by an architect | 80. glizil 2auld (URdsi) Al=A-iall st ¢l ?

who was which of the following ?

(1) American (1) 2Rl

(2) French (2)

(38) German (3) ¥

(4) Australian (@) faun
-o00o- -o0o-
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Read the following instructions carefully :

(At [QE30A Euyds izl da -

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part | and Part 11, % (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-PartI
& Il and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No partof the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/hall.

1.

10.

11.
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